MNar oueas

ROUND MULTIPURPOSE

EN Assembly scheme | DE Aufbauanleitung | FR Schema d'ass

emblage



https://instructions.narbutas.com/

@g)ox=  @p)ox

M6x16 M6x16

M42C0282 M42C0238
C{Qa= 1 Pas
M6x12 M6x12
M42C0043 M42C0317
MG60OEN110

M6x16
M42C0255

@x16

M6x16
M42C0335

@ 8x30
M42H0001

(§@x C Do=

2/15



Component quantities for single supplementary unit @
Komponentenmengen flr einzelne Erganzungseinheit

Quantités de composants pour une unité supplémentaire

E:
2

g1

()o@ (jow (jox Do

M6x16 M6x16 M6x16 M6x16 @ 8x30

M42C0282 M42C0238 M42C0255 M42C0335 M42H0001
@ @

M6x12 M6x12

M42C0043 M42C0317

MG0OEN110 3/15



1 (@ ery@Qcr

M6x16 M6x16
M42C0282 M42C0238

0
0

©
>
-

N

-
@

S

e

@

Ny
/ Do not tighten up @

Nicht festziehen
Ne serrez pas

MG60EN110 e



2 5 C@@m C{@@m

M6x16 M6x16
M42C0255 M42C0335

ea @ @
| i

> P

>t

@

Do not tighten up
Nicht festziehen
errez pas

MG60OEN110 5/15




3 ((((((((( @ or @ D

M6x16 M6x16
M42C0282 M42C0238
o) \\J :
b
/_

g
/D

<@)

Nl

Do not tighten up
Nicht festziehen

Ne serrez pas

MG60OEN110 6/15



b 1 3 Repeat steps 1- 3 for combinations with 2 or more supplementary units.
|
[ Wiederholen Sie die Schritte 1-3 fur Kombinationen mit 2 oder mehr Ergdnzungseinheiten

Répétez les étapes 1 a 3 pour les combinaisons avec 2 unités supplémentaires ou plus.

>
i /b
I c
o
0
0
il 1
.G
§ ]
= b
L
< [ 4
G
4
L <' /
7
i ]
B
e
= 4

MG60OEN110 7/15



4b




5 ()  @o)oe {§om  (gon

66666 M6x16 M6x16 X
22222222222222222222222222222222

MG0OEN110 9/15






Leave a minimum gap

Lassen Sie einen Mindestabstand
Laissez un espace minimal

Desktop
Tischplatte

Plateau

/

MG60OEN110

11/15



10 C@@“ (:@@XS @xs @xs

M6x16 M6x16 M6x12 M6x12
M42C0255 M42C0335 M42C0043 M42C0317

Screw marking
-(© @ @ Schraubenmarkierung Tighten up @
M6x12 Marquage des vis Schrauben festziehen

M42C0043 Resserrer les vis
M42C0317

(0 ©

M6x16
M42C0255
M42C0335

W
W
W

(
(
(

MG0OEN110 12/15



1 1 Tighten up all screws from previous steps
Ziehen Sie alle Schrauben aus den vorherigen Schritten fest

Serrez toutes les vis des étapes précédentes.

ERN

S
— /
S—

=

MG60OEN110 13/15



Go to step 13
a Fahren Sie mit Schritt 13 fort

Aller a I'étape 13

12b @)o=  @Foe (o=  {Jon

M6x16 M6x16 M6x16 M6x16
M42C0282 M42C0238 M42C0255 M42C0335

Do not tighten up ®\ C)
Nicht festziehen i
Ne serrez pas
E\E 3
S \‘:"0
3

&=

G,

MG60OEN110 14/15



ry unit.

11 to finish asse

from 7 to

ps

4 Repeat ste

mbly of supplemeta

Check the alig

eck the alignment
Uberpriifen Sie di
Vérifier I'alignement

(o)
c
=]

2

<

O
—
@
5

<

[

©

n
5
a
o
D

15/15

MG60EN110



	0.1
	Drawing View1
	Drawing View4
	Drawing View13

	a.
	Drawing View5
	Drawing View8
	Drawing View10
	Drawing View14
	Drawing View73

	b.
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79

	1.
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View27
	Drawing View28
	Drawing View80

	2.
	Drawing View18
	Detail View AE (1 : 2)
	Drawing View20
	Drawing View26
	Drawing View81
	Drawing View92

	3.
	Drawing View23
	Detail View AF (1 : 2)
	Drawing View25
	Drawing View29
	Drawing View30
	Drawing View82

	b.1-3.
	Drawing View31
	Drawing View83
	Drawing View84
	Drawing View85

	4ab.
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View86

	5.
	Drawing View36
	Detail View AG (1 : 1.5)
	Detail View AH (1 : 1.5)
	Drawing View39
	Drawing View40

	6.-7.
	Drawing View41
	Drawing View42
	Drawing View43
	Detail View AI (1 : 1.3)
	Drawing View47

	8.-9.
	Drawing View45
	Detail View AJ (1 : 1.5)
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View93

	10.
	Drawing View54
	Detail View AK (1 : 1)
	Detail View AL (1 : 1)
	Drawing View57
	Drawing View58
	Drawing View87

	11.
	Drawing View59

	12ab.
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View89

	13.
	Drawing View69
	Detail View AM (1 : 2)
	Drawing View71
	Drawing View72
	Drawing View90
	Drawing View91


